PANDORA SMART

Key Description Product Code Qty Required
1 4 PIN PLUG - SMART 62051 1
2 FLOATING CABLE - SMART 62052 1
3 SEALING GROMMET 62002 1
4 HANDLE U14 ASSY SP 62053 1
5 PUSH BUTTON LOCK 62054 1
6 SPRING 62055 1
7 CLEVIS PIN FOR HANDLE 62056 1

DETAIL G
11 10

= —DETAILA DETAILD



PANDORA SMART

Key Description Product Code Qty Required
8 R PIN FOR HANDLE 62057 1
9 SCREW #8 X 1.175 PH PN 62007 4
10 SCREW #6 32*5/8"" S/S 62009 2
1 OUTLET TOP - SMART 62058 1
12 P-CLIP 1/2™" 62031 1
17 SCREW #8 X 11/16"" PHIL 62011 9
18 SCREW #8 11/16"" PHIL 62012 4
19 RUBBER VALVE 62016 4
20 BODY ASSY PANDORA SMART 62059 1
21 BUMPER FOR SIDE PLATE - SMART 62061 4
22 SIDE PLATE ASSY - SMART 62062 1
23 SIDE PLATE ASSY (CABLE) - SMART 62063 1
24 DRIVE TRACK 62024 2
25 DRIVE BELT 62023 2
26 CASE FOR PIN 62029 1
28 MOLYBDENUM BUSHING 62018 2
29 SMALL ROLLER 62019 4
30 SLEEVE ROLLER 62020 2
31 PULLEY ASSY 62021 1
32 BUSHING FOR LOWER CASING 62022 1
33 LARGE ROLLER 62030 1
34 PUMP MOTOR 62026 1
35 PROPELLER 62033 1
36 SCREW M3 X 10 62034 1
37 WHEEL TUBE ASSU - SMART 62065 1
38 PVA BRUSH 62066 1
39 FILTER BAG 62038 1
40 S/A BOTTOM LID NATURAL 62039 1
41 BOTTOM LID NATURAL 62040 2
42 FILTER SCREEN - SMART 62067 1
43 DRIVE MOTOR - SMART 62156 1
44 SHRINK TUBE 20/6 62047 Tmt
45 SHRINK TUBE 13/4 62043 Tmt
46 BUTT CONNECTOR RED 62042 2
47 SWIVEL ASSY FOR CABLE 62044 1
49 POWER SUPPLY - SMART 62068 1

20A BUMPER FOR UPPER HOUSING 62060 4

Not shown GROVE PIN 1/2"" X 5/8"™" S/S 62048 1
Not shown SEALANT MASTIC 62050 2
Not shown HANDLE BUSHING 62069 2
Not shown GROMMET 62070 1

0‘3“" Rainbow Pool Products
Q‘/’ PO Box 2388, Mansfield Qld 4122
;f Telephone STD 61-7-3849 5385
ni POOL PRODUCTS Facsimile STD 61-7-3849 5384
=—— Email: info@rainbowpoolproducts.com.au
Qualiy Pool & Spa Producs VVED: Www.rainbowpoolproducts.com.au

|

|




